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Launch Time Window Determination for Missile Interceptor

Student: Yen-Po Lin Advisor: Prof. Ching-An Lin

Institute of Electrical and Control Engineering

National Chiao Tung University

Abstract
When an attacking missile_is detected, the missile defense system
must decide when to launeh the missile interceptor. The choice of a
proper launch time is important because given the physical constraints on
the interceptor, a poor-choice of launch time alone may cause the
interception to fail. This thesis discusses the determination of launch time
window for a missile interceptor, which is formulated as constrained

optimization problems.

The earliest and the latest allowable launch times are determined by
numerically solve the corresponding minimization and maximization
problems. Three incoming threats are considered. Numerical results show
good agreement with results obtained via six degree of freedom

simulations employing midcourse guidance.
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9,(%,%)<0 (4.10)
03(X,, %,) <0 (4.11)
9,(%,%)<0 (4.12)
95 (%, %,) <0 (4.13)

HY(48)5 594158 5 (4932 (413)5 * & 34450 -
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4.2 B i B 3L oru >

F6) =% +x, (4.14)

T X X)=ty+t > ZFE BRI PRI BEFHEHDRPFRF - AP gah
BiFiCR R - 5

(P

max f (x;, X,)

h(Xl,Xz) =0

0;(X%,) <0
95(X, X;) <0
0, (X, %) <0

subject to

BiE b RPN RS R RRD LR T b B ey
ot Bt B BEREE 0 2 R R n(t,) o AT REF I E X,
s O i 6 (4.20) 15 LF T8 DT 0,(0,%,) <O ek (4.10)58 7 % &L
NAEEY R BSBREI T AR N B R e kR F
A0 P AL RIPE S 5k BT T ek (B R E S EE) o 4ok (4.10)58 % BB

AT s PRt RS B TR A BT o

18



AP Y BT - BEE R TR

(P2)

min f (X, x,)

h(x. %) =0
0,(x,x%,)<0
9,(x, %) <0
9s(X, %) <0
9,(%, %) <0
0:(%,X%,)<0

subject to

Bt G RET RN EF AR P RIFEFR L B

AR BRI BEBEERL o 2 S Radg () c 2P

80 (P2) R f(x,X,) 0d | B2 4150 ¢ 32(4.10)58 - = 5 A(Pl) faenfn

T 4 B (PR AL o Mt B ot B LR D B et B PR

4.3 #BFRFEAL B8] &
bk B R AE(PL) A (P2)0F W AR 0 T A A B Fenut BPER L
tyo * 1

0 2 OStdmin <tdrmx ’ EIJE%E&?PE&[tdmin’tdmax]gpg&@ﬁ@ﬁjzﬁ v

d max d min
TR BE LY AR R FEERII RS BELT T EF
tymin 77 2= 16 1 Ao B B 3 0 B FAQEL,  F) 0 WRIEFE G T i 2w o NPT Y

B A ALA T R EM TR RER AP b By, >0

19



e b ek EPERT L 2%
Case 1 ty <Uymin X Pz
Case 2 tymin St <1 O AL R
Case 3 ty > 1 e % Pz

% 4.1:

RN P

20




A
¥I %
B iR B g B
RHGF e 3 3tdhende d VR EET 2 T AR LG R AR AR A T
Minimize f (x)

h(x)=0,j=1

subject to { .
g,(})<0,i=1---,m (5.1)

FoxeR > g()<05 7 FUFI > M) =05 F 50 UFI50 o - ko ok
TR R EH R BRI G fR4TE 0 A % R * R e
FoRfEe T AAFT RS ARLABFE 2 R E RGP - 2 kR
B & fie(Penalty Function » PF)erii 72 o J1 % 215 s S B8 38 %
22 %N endod R BRI S g 5 "L 58 (unconstrained) s1R° A 0 2 i
- R EC) B R iR ko Bldets &R 2 (gradient method).c % = f& 7 2 A3 en
i@ 4 = = #.3(Sequential-Quadratic Programming - SQP)#ii & j2 o ¥k 3 - B
H oz b i 1R AL KRR e W S AR T o RS RS B

ERF 8 A e e A

5.1 Ao & 8(PF) & i

Pw=imm@gwﬁ+ihaﬁ 5.2
3 grenp R i
0(c,x) = f (x) +cP(x) (5.3)

21



Hoc% o #coPF =2 chi 8 44 £dok (5.0)5 4] 7 58 1o BI(5.2) 0 P(x)
R o dek SHcC At o BIHE5.3)N B T AEEP(X) %) 0 E oo R

P(X) >0 » 24|58 3278 & o Jp ot B(5.1)enR BEdE 3 = T 6 X 3 LN enRt AR

Minimize {e(c,x),xe‘ﬁ'} (5.4)

f gt 41 * Gradient Search method » 4} x i 17 0(c,X) -] ° #c & £f2(5.4) 7

BEHZ B LB NE AR SHEy>L B FHe>00 R A dp ) $8Cy >0 o

.00(c,X) |
%
o6(c,X)

V., 0(c,x) =| ~ OX,

a0(c, x)
oX,

FHiwFfrH ,% L

HAELEHEy > &0 ¢ R AREX
A2 e BRfE o k=123

g X B AR E D KR O, X ) Bl o TiesT & B X AT 0(C, X¢)
%33 EV0(C ., XT) -

HEA X =xXT"-a"-V, 0, X7

do(C,;. X")

:0"1"\//51 o
da I

o of L HEEER > o T A

22



YU AR 5 HIETALTE G D] T aeiE
If ( ka—xk‘lu<g or Hf(xk)—f(xk‘l)u<g )

Bl e B XC T LA ] e i 17
Else ¢, =n-c_, > EwH 2> €374 4 6(c,,X) >

End

5.2 PF # o
GiB 5.1 §3in h PR R E 2 15 0 45T X & 156 Matlab iz 428 Hf2—
P B R AD 3 BIAGASRE ST  ) B A B R R e

Bl EE bt
5.2.1 PF §# o8- @ B 3L

Minimize f(X)=% +X,

h(x) =3x° +2x,°—2=0
g(x) =2x°+3x,+2<0

subject to {
Y RAEZ B ERE E#Hn=15> =001 ¢c,=005> 47 4B K i
(X, %) =(-1-2) > & Matlab 425 # 7 £ 11 = S 4z at % (X, X,) =(-0.4865,-0.8200) -

P LSt B B F(X)=—1.3065 o % 5.1 5 PF £33 % cip b sk -

k X X, C, 04, %)
-1.0000 -2.0000 0.05 -3.0000
-0.5873 -1.2205 0.05 -1.8078

23




2 -0.6492 -1.0172 0.075 -1.6664
3 -0.6426 -0.9662 0.1125 -1.6088
4 -0.6088 -0.9198 0.1688 -1.5286
5 -0.5776 -0.8845 0.2531 -1.4621
6 -0.5519 -0.8600 0.3797 -1.4119
7 -0.5312 -0.8436 0.5695 -1.3748
8 -0.5149 -0.8330 0.8543 -1.3479
9 -0.5024 -0.8264 1.2814 -1.3288
10 -0.4931 -0.8224 1.9222 -1.3155
11 -0.4865 -0.8200 2.8833 -1.3065

% B.LPER 2 g b de [ E A7 B Hicdy

) b
./ N\

0.2

-0.2

g (=0

-0.4

A (min)

-0.6

L
.

-0.8

//
4

B 5.1 : PF %&IJ&'J‘ E.% L
Aipwoud B 5.1 kg F PR iE2 & FRTF Bk B 2P %dMm
B Am4 0 gx)=0 %¢ RT3 R4 g(X)<02 (38 &> £ REAER

24




FIFhX) =0 FI B EEN 2 2 20PN 27 5% 5 755 AB- {* PF
FEEr RN T T2 5 A gk (X, X%,)=(-0.4865,-0.8200) - iz & RE AL G
PE Sk ] B 5-1.3065 l4Fid B AR A 2 REP| 4P EIBKE:

-1.5000 FF » F R T TR AL ME L 0 PF BB R g(X) <02 h(X)=0 -

Fpt Al PR E 7 G s Aghe SARE BT ek & o

Maximize f(X)=x +X,

h(x) =3x°+2x,>—2=0
g(x)=2x+3x,+2<0

subject to {
T AEZ B ERAE REE =15 »&=001c,=0.05 " 474> ERK T 5
(X, %)=0@1 - ‘F Matlab A2; 34 7 & 11 =X Sz ac > § (X, X%,)=(0.4913,-0.8042) -

PR ScF B B F(X)=-0.3120 < % 5.2 % -PF 2% hip bf Hcdh

k X, X, Cy f(x,%,)
0 1.0000 1.0000 0.05 2.0000
1 0.5025 0.6822 0.05 1.1847
2 0.3994 0.2719 0.075 0.6713
3 0.8037 -0.2417 0.1125 0.5620
4 0.5807 -0.4299 0.1688 0.1508
5 0.6466 -0.6633 0.2531 -0.0167
6 0.5708 -0.7105 0.3797 -0.1397
7 0.5540 -0.7562 0.5695 -0.2022

25



8 0.5259 -0.7744 0.8543 -0.2485

9 0.5123 -0.7897 1.2814 -0.2774
10 0.4987 -0.7977 1.9222 -0.2990
11 0.4913 -0.8042 2.8833 -0.3129

% 5.2 1 PF 25 b B~ 5 4p B ficdy

N\ I
A \/-< h (x)=0 \\
IS \
0 N\ \\
. \\ \\
\\ NG

\\ \\
TN FELEERS s
1 RIS HE S
) ~, Ve L X ~

5.2 : PF & 3 E5%3E

i > A oud B 5.2 kg1 PR T2 £ 343179 Bk * B o
BHY %8 MERL N gX)=0 %3¢ RET> AL gX)<02 /38 & > Fd
REALHFAh(X) =0 FIBEENZE 2 E04 {27 #2585 7575
AB - % PF &zt hv i35 B g > T (X,X%,)=(0.4913,-0.8042) - i=
R AL E P S HE LB 5-03129 KIFEiEBE M 2 RN L PR
S 3 01 pF o FRNV FRARS ALY > P B EREgXX) <0

h(x)=0 > Bl 1% PR 527 104 »c i BEhe Sip g BT F mendot & o

26




5.3 @ ¥ - X R$I(SQP) i & 2
WA RS2 SQP Bk A R HE ch PR B G chRfE 2 .
T RIEERAE(B.L) TP E Y BN L B .

TEEU

h, (x)
h(x)=| :
h, (%)
i¢ * Lagrange &
L(x,A) = f(x)+_zn:/1jhj(x) (5.5)

# ¢ 4, % Lagrange multipliers -

1293 KKT (Karush-Kuhn-Tucker) < & %

VE()+ D 4V, (%)= 0 (5.6)
1
h, () =0 5.7

o {VXL(X,)\,)

=0 - #HGOHNEGHDA 2P EEA Y 2PN A AN)VERT
VA@JJ #(5.6)3 % (5:7)s  SIEE S S AR

i3

i

=

e e e

1* (5.8)\ 3+ % Sx &2 SA . 4
kL sy (5.9)
Y L)y (5.10)

(5.8)5% ~ (5.9)5% ~ (5.10)5% ¥F 7 eh= B 4238 5 L & L 4 I -
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#+¢ » 4(5.8);% ¢ Lagrange & #c Hessian 46 %
VZL(x,A) = V2 F () + > 4,V?h, (X) (5.11)
j=1

#-(5.8); GBI L2 (67 E R T AL

VZL(X,A*) Vh(x*) {5x}_ Vi (x*) =Vh(x*) -
Vh(x*)" 0 |lon] —h(x*)

} (5.12)

At Bk d“ =0x 0 F #(5.10)58 &~ (5.12)50 15 T B | T F4EE

VZL(X,A*) Vh(x*) d*
Vh(Xk )T 0 )\’k+1 - )\,k

Vi (x*)=Vh(x*)-Af
—h(x)

{ViL(xk,kk) Vh(xk)}{dk }_[—Vf(xk)—Vh(xk)-kk+Vh(xk)-xk}

Vh(x")" 0. = o)
[VﬁL(Xk,kk) Vh(xk)}{dk }:_{Vf (Xk)} (5.13)
Vh(E)" 0= JlaAt ] Lh(x)

13 (5.13) 7 £ = Newton-Lagrange System (LNS)

9,(x)
9ax)=|
9, (%)

~

Gt B BN g (X) <08 E gt hj(X)ZOP\—”B?’T’% ER IR H

B FOE SR ()2 08F 0 o Bt 3 E0r] N4 2 LNS P s HaE

VIL(X, A%, B) Vh(X*) vg(x)|l d VT (x*)
Vh(x*)" 0 0 A =~ h(x*) (5.14)
vg(x‘)' 0 o | g(x")

28



H ¢ Lagrange &#icic ¥

L0 B) = 100+ 40,00+ 40,09 (5.15)

# B A A (X000, B°)
%22 BRfELINS  k=01,23- > ¥ £ IATm 4 § dC Qg g

# 23 LATX =x +df

HIA e h AT cac feacsiddb el Ein 0 Bl o

F
-
(Sa)
D

v k=k+1 > £37%EIH 32 E Teacs i

5.4 SQP # &

£ 5.3 &Fm A B SQP IR FiE 8o & T KL 51 Matlab 258 88 ffE-
B 2sR e 1 BT B % 5.2 Stk PR gl o B e d & 0t
Pt R T TR ERIT 0 Befé @ % A 552 £ 5.6 R A fIFE 2L R

2 ¥ T l]"_}_ o
5.4.1 SQP # ti3.-] E /AL
Minimize f(X) =X +X,

h(x) =3x°+2x,>—2=0

subject to
g(x) =2x°+3x,+2<0
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P A B B E8# (1°,6°)=(0505) 0 £=10"° 5 A dplE K T
50, %)=(2,-5) > g Matlab 2N R (7 7 < &z §

(X, X,) = (~0.4725,-0.8155) » P HE-si#ct %] & f(X)=—1.2880 -

X X d* A gt fxux,)
0.6022 -2.8387 (-1.3978,2.1613) 0.2661 0.5000 -2.2365
-0.4373 | -1.8304 (-1.0394,1.0083) 0.1826 0.5000 -2.2677
-0.8183 | -0.9735 (-0.3810,0.8569) 0.2221 0.5000 -1.7918
-0.5510 | -0.8215 (0.2672,0.1520) 0.3417 0.0651 -1.3725
-0.4781 | -0.8155 (0.0729,0.0059) 0.3337 0.0295 -1.2936
-0.4726 | -0.8155 (0.0056,9.0850e-06) 0.3333 0.0291 -1.2881
-0.4725 | -0.8155+ (3.2821e-05,2.1267e-11) | 0.3333 0.0291 -1.2880

# 5.3 : SQP s fi# 4= il Ber] i Ap B By

5.4.2 SQP o5+ E R 4

Maximize f(X)=x +X,

h(x) =3x°+2x,>—2=0

subject to
g(x)=2x°+3x,+2<0

FY R A B B PER (1 6°=(0505) » £=10"° > 4 d4aiE R T A
(%, %)=(2,-5) » g Matlab #2547 % 7 = t& fxac > ¥ (X,X%,)=(0.4725,-0.8155) -

PR S B &+ & f(X)=—0.3430 -
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X, X d A g | %)
1.4624 | -2.3226 (-0.5376,2.6774) 0.2177 0.5000 -0.8602
1.7495 | -0.4148 (0.2872,1.9078) 0.0712 0.5000 1.3347
0.9609 | -0.8677 (-0.7886,-0.4529) 0.0195 0.3871 0.0932
0.5972 | -0.8162 (-0.3637,0.0515) 0.0323 0.3694 -0.2190
0.4855 | -0.8155 (-0.1116,6.8202e-04) 0.0631 0.4020 -0.3300
0.4727 | -0.8155 (-0.0128,1.1985e-07) 0.0752 0.4152 -0.3428
0.4725 | -0.8155 | (-1.7424e-04,3.7251e-15) | 0.0757 0.4156 -0.3430

4 5.4 SQP Hfzf bl ~ Eip B Hedf

d 3 AREE 52 & PR bl Anle - FIMNG 0 AR SQP & PR IR & & hd

\\\?{r

4+ % 552 £ 564 % 5l S A0 k KjEh ) B2 AL E

e frid gk o
=k LT (S TR X N E PR Sk | B
PF 11 -0.4865 -0.8200 -1.3065
SQP 7 -0.4725 -0.8155 -1.2880
% 55 ) ERFR E R
5o 7 = i T F X, T {7 X, A o R
PF 11 0.4913 -0.8042 -0.3129
SQP 7 0.4725 -0.8155 -0.3430
%56 B BERFR E R
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HiE4 55% £ 567 FUFRAME 2 RFOV FiEPE BT 20 B
512 B 527 Ba R v 7254 % 2179 Bk B8 AL & - & Matlab
FENH T SQP 2 AR Al PR Al s R B A u T AT
FRge FIE A F RAGTFHS E PR SQPIFE 2 v T2 AP IFA

&1 R Ag(PL) 2 (P)shffzl £ o
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o

L

Joy

BlEih b 2 iR

-

6.1 ¥Heda4 2 i
Ao Bt XL Bt T O TAR B 6.1 4 5 2R HE A
B TERtEied A oo 261 5V RES VRS T ph

Boo 4062 5 bk e R o £ 6.3 LB FFE A fRR

2000
1500\
2 N\
» 1000
3 h\\
= 500 ~
0 i \ I
0 50 100 150 200 250 300
Time (sec)
X 104
15
Z 10
£ s
L | |
0 50 100 150 200 250 300
Time (sec)
Bl 61: &7y Lo "grF 2t r L F
j‘%ﬁq VJ\’% *;Fc’;:.?'_r %’fo
A EE EN - & A
KN 161,500(kg-s) 854,20(kg-s) 102,968(kg-s) 148,560(kg-s)
iR ok R 16s 36s 5.4s 29s

7061 VM REFEFTTHRE AR LRdded HiEr R
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LR #3315
¥ - & 703 (kg) 429.20(kg)
FHEE S 373 (kg) 645.17(kg)
L s AT 1076 (kg) 1074.37(kg)
262 W RFZIFE ALY Vi SRR
HHBLTE 1650(kg)
bkt A 1076(kg)
FoEERTE 703(kg)
FooERETE 373(kg)
¥ o X g 947(kg)
$ - & 5 E g AR 810(kg)
BooEls 2 437(kg)
ENEE R TR 21(kg)
%7685 AR E A gk e
6.2 HoEA~ 4o iE
AuEE 222 R P ROFTARE AT £ AT
A7 4 % (km) A7 43k B (km/s) 3~ 3 A& (km)
pAR- (900,-900,-30) (-2.1,2.0,-2.0) 239.13
ARz (750,-710,-30) (-1.8,1.9,-1.6) 161.65
ARz (350,-280,-97) (-1.8,1.4,-0.1) 97.526

264 PHEFHRE




P BFidsbat 200022 »d 290022 > FA3022 > pEHTE
L 1273122 o PR AT 3 75022 5 3 710202 0 B A 30 &
25 pEHFER G 1033222 o PRz B F skt S 350 22 > F 4 280 &
ToRRIT 2 AT iEsEE 45859 22 c R REPEBYS L > LT

I FEEHITER > 4oRl 6.2 47T o

Target trajectory

Targetl

Target2

Target3

25

15

Altitude (m)

East (m)

North (m)

B 6.2: % I P i 7 i B (NED)
B63 - BAEPHENIBFZIRCEFTRIMGH > v L P &E#F, dp
- BEBRABRB ORI ERPIFAS B AR A PR BB REEKMI R

SHBRPEFENDT ATERE PR BEEASBAMNA P E- 2P 2 7

>

g
?A_;
o

T ORI YR B DR o
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25

T

Targetl
/ T Target2
Target3

1 // ; \\
05 / \

0 AN .
50 100 150 200 250 300 350 400 450
Time (sec)

Target altitude (m)

o

Bl 63 : 7 [k Pl 8 RHFETR

5B 4 B (-1,0,-0001) ko3¢ S BE AT Erhig S 122 > F A 10 2 ¢ o
AL 205 S EE 5 B S A E RS TOR S A & F L e B oA g

S TP Ak R o LB AEIE M e A R 64 8545 o

Hos pFR Sfict =165 0 t,=18s - t,=36s > t, =10s o ¥ - & FHEIRYP(S

8 m, =810Kkg » % = & uEpE g+ o4 T,=23580N > % = &4ad hf £ 4

i o, = % kgls > £ 4 eit & g =(0,0,0.0008) km/s? o g % & i i (4.9) 5 %

(4.12)5 #h=30 » (4.13)5 %#ch =10 -
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W33 & e mp i &= B p &AL Y G

B R-
900 | [-2.1 . 0
(t)=|-900 [+| 2.0 [(t+t,)+=| O [(t+t)* > t>-t,
-30 | |-2.0 0.0098
P iR=
750 | [-1.8 . 0
L)=[-710 [+| 1.9 |[(t+t,)+=| 0O |(t+t,)* » t>—t,
-30 | |-1.6 0.0098
PRz
350 | [=18 ; 0
() =|-280 [+| 1.4 [(t+t)+=| 0. |(t=+t,)’ » t>-t,
—97 4+ | =0:1 0.0098

PRk & k= B P A B

p k-
-2.1 0
v(t)=| 20 [+ O |(t+t,)
-2.0| [0.0098
PRz
-1.8 0
v(t)=] 1.9 [+| 0O |(t+t,)
-1.6| |0.0098
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-1.8 0
v(t)=| 14 [+ 0 |(t+t,)
-0.1| |0.0098

% 45 Simulink 425 WoEH-SE A o B 71 5 SBU R 34 St g
BB T o f B B LR D Trot P

Bl ¥ A

1.7311
r (t)=AR =|-2.6115
—6.2311
Wi B 4
0.3781
v () =AV, =| —0.3616
—0.7866
FORERREL > W=t 4+t
1.7311 0.3781 . 0
r,(6+t) =| 26115 |+ -0.3616 |18+7| 0 |18’
—6.2311| | —0.7866 0.0098

FERZEUREELZ M T+t St At HLPF o JE4 A A i B

v
"=

0.0133 1.6963-10™*
a_(t)=|-0.0127 |+ (t—t —t )| -1.6221-10*
-0.0214 -2.7372-10™*
B ¥ 5
1.7311 0.3781 0 0.0133 1.6963-10™*
r (t)=|-2.6115|+| -0.3616 (t—16)+% 0 (t—16)2+%(t—34)2 -0.0127 +1(t—34)3 -1.6221.10*
—6.2311| |-0.7866 0.0098 -0.0214 -2.7372-10"*
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FoEUHSERE S Bttt AL, R N N TR A

[1.7311 0.3781 0 0.0133 1.6963-10
r,; =|—2.6115|+| -0.3616 .54+% 0 |-547+1.36%.| 0.0127 +%-363- -1.6221-10°"

| -6.2311] | -0.7866 0.0098 -0.0214 -2.7372-10*

[ 32.3895

=|-31.9299

| -50.9403

Bl g B 5

0.3781 0 0.0133 1.6963-107*
V., =[—-03616|+| O |-54+36-|-0.0127 +%-362- -1.6221-107*
—0.7866 | | 0.0098 —0.0214 -2.7372-10™
0.9847
=| -0.9417
-1.2362

BUISUHL +,PF > RS &R MR TR fEE L

0
(O = B (1-70) + 21200 |(1-70)°
0.0098

—36.5412+0.9847t
= 33.9880-0.9417t
59.6039 -1.9222t +0.0049t°

6.3 B *
AE W Simulink A28 F ST P REIGRRT 23 R KB P FR2
SR PF R KRR 2 (S It PF2 SQPHE 2 M B AL B2 &)

s LF RER R
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6.3.1 Simulink -2 P - * 8

FIH 6.2 &7 A 4o ik 20 7 P F i Simulink 258 KB P - 27 F

i B P g B e & 6.5 ST 0 T

BRI E PR RN 4 R R

WP ERRE BB EFER ) 20) B wBEEEEE 10 R < o

HEPER | F4 w4 PHRFAR | BEER I, (t) r(t)
(s) edE (km) (km) (s) (km) (km)
0 123.48 182.94 323.93 343.00 387.90
10 102.88 174.73 321.70 327.64 364.37
20 82.266 166.08 319.43 311.80 340.91
30 67.998 160.40 314.28 302.35 326.16
40 54.313 154.76 308.88 293.20 311.94
50 41.479 149.31 303.18 284.50 298.58
60 29.470 144.08 297.15 276.35 286.08
70 18.688 139.25 290.84 269.82 274.78
80 15.745 139.11 280.78 269.47 274.47
90 13.374 138.84 271.06 269.87 273.84
100 11.276 138.02 261.66 268.74 271.95
110 9.4430 136.78 252.54 266.63 269.11
120 7.9499 135.13 243.70 263.54 265.33
130 6.6508 133.31 235.05 259.67 261.22
140 5.5609 131.20 226.09 255.09 256.47
150 4.6438 128.64 218.31 249.87 250.76
160 3.8183 125.91 210.22 244.15 24471
170 3.0696 122.99 202.26 237.82 238.34
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180 2.5609 119.74 194.42 231.09 231.31
190 2.0304 116.29 186.73 223.80 223.93
200 1.6978 112.64 179.11 216.27 216.22
210 1.3078 108.78 171.63 208.21 208.17
220 1.0306 104.70 164.25 199.77 199.76
230 0.9190 100.39 156.94 191.11 191.01
240 0.7070 95.858 149.72 182.12 181.91
250 0.6000 91.247 142.59 172.69 172.78
260 0.5168 86.223 135.55 163.11 162.98
270 0.4759 81.114 128.59 153.12 153.16
280 0.4123 75.569 121.70 143.04 142.66
290 0.3141 69.926 114.90 132.56 132.15
300 0.3090 64.185 108.14 121.84 121.63
310 0.4850 58.162 101.49 110.76 110.81
320 0.4321 51.661 94.980 99.374 99.363
330 0.8890 44.853 88.546 87.776 87.685
340 1.3120 37.346 82.403 75.425 75.233

2065 WD B A b BpET g )
BI64 5 0 fE- hu B s F4)arimT o pfhg & (7 pun Bl =

E RS E PR R P RO PR R A S B P RS

FH A ERFRA T P # BB R AT 2L H 65 -
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Missile & Target trajectory
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6.6 5w BpFM 5 70 £ 3 340 5 enF 4 354 SEAER) F 435 70 £ 4 bph-
WAL P Af- 24 nF 4 A SRS 18,60 2L 0 MEF 4 BEFT b 0 T H I

IE AR RRREA RG]

Bl 6.7 5 BpEFF L 7043 340 fyenp 3 BHETR > FREFe
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1302023 d 265447t FHERFAPET S 824040 KX B Z &
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B 6.7 : P\ A 0t & FRE R E B M 5 F

6.3.1.1 7 PF i ¥ 2 Rz p -

F 0 E- KR % 5.1 &or B PE w52 %16 Matlab 258 328 7
FAE e Foordk A engo 2R P E (P2) - B 6.8/ 5494 5 = § #rip ) e 0
LAV h(x,%,)=0% 7 % 8 plsNg, (X, %,) <02 0.(X,%,) <047% e LBl #
Pl At BT X 20 0 Gight A HEE AR X, >0 B Fe ¥ ML
h(x,X,)=0; % d & L g (X,%X,)=0>%d & RT3 F5 g(X,%X)<0H7 {7
AR o b MR A g (X, %) =02 WA S WL g (x,%) <05 [FiEE

BoF P R T g PR ENE Z EARGN O BEREC S FI R

Bemm, > T BpERF AL B A m 115 PR AL E S m, 2321 o
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400
) \
300

250

AN 9,(,)=0 hx,x,)=0

150

95(X1*X2):0

100

0 50 100 150 200 250 300 350 400

B'6.8" P i 2B F R { B

(1). 4% Ffz max: f(x,X,)=X +X, » TRELFEF L2 & 7EF < @

B B A4S A B 5 (X, %, )=(835,90) % (X, X,)=(280/120) » % /m 21 % 44 6.6

#45T
i DES A7 b 1B at B P R BApER 2T i
(%, %) )] (s) (s)
PF (335,90) 320.95 87.189 408.13
(280,120) 320.39 87.550 407.94

4 6.6 1 PF Rfzp - utBpFA &+ @

45




2.

(i).2x Ffmin: (¢, X,) =X +X, > TUELFFFEEEFEFF | B

L
1B

B B A4 A B 5 (X, X,) =(150,220) 2 (X, X,)=(0,130) » #iim fjiit %4k 6.7

T
- ES A s B 2t B P BrEpER PR S
(X4: %) B (s) (s) (s)
PF (150,220) 115.20 233.35 348.55
(0,130) 115.11 233.42 348.53

% 6.7 PF Rjap fh- s B A | &

6.3.1.2 $47 SQP /7w ¥ iz £f3 0 -
P AR- KR 1 53 &g B e SQP F 2 0 % Matlab /250 B

TN S e O e R AT(PL)E (P2)#

(i). 2% Ffz max: f (X, X,) =X +X, » TaE SEpEFF S TR AL B

A A 45 B A B 5 (X, %,) = (335,00)-& (X, X,)=(280,120) » :%-4m $ 2% % 4-% 6.8

AE T
i e A7 o (B R PR BEApEm PR S dkiE
(X4: %) B E (s) (s) (s)
SQP (335,90) 321.01 87.148 408.15
(280,120) 321.01 87.148 408.15

# 6.8:SQP Hj2p - £ BEFF A E
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(i).2x FfEmin: f(x, X)) =X +X, > TUELFFEEEFEFF | B

B B A4S A B 5 (X, X,) =(150,220) 2 (X, X,)=(0,130) » #iim fjiit %44 6.9

AR
b N ES A7 4 B 2 R pE R BEER TS e
(%, %) Bl @ (s) (s) (s)
SQP (150,220) 114.69 233.73 348.42
(0,130) 114.69 233.73 348.42

% 6.9:SQP ffzp - EBPEFERE] E

i PF 2 SQP ;% & ;2 s i@ enus B L 0% 95115, 320] > & o
W@ § R R AR 2B P A IR S R T P AR 4 S
AP B R HE P R E R A R AR L R e BT A A
B FERER L L0 ME AR A 002 > 2 ppp s K R ISG

A 300 m g BpER L 3405 FE 4 EAGER L o2 o ppFp R R

W APERITI0 2T FEEEr S FRBBAERE ) P BETE N
duoo g id IR A o

,r_g‘—113 °

BR 2 RERAONGLEG A P AR

6.3.2 Simulink ##p - x$
Bt AP B RS KRR I 6.2 & 4K T daiE 0 XY 58
Simulink 425 X 8 P - 27 b aE BpEFF off & 5% R4e 4 6.10 #57 > 7 u F
Iy P RS REIGFOR S AR PERBAE CRBUREFET v (D2

n(t) » 2 ¢ e BpEFE pg 10 F - = o
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WEPET | R4 E4 PRERE | AP () (1)
(s) edE (km) (km) (s) (km) (km)
0 8.0242 95.919 285.80 310.10 311.66
10 6.5246 95.138 276.59 308.28 309.73
20 5.3273 93.900 267.64 305.77 306.69
30 4.1689 92.309 259.02 302.28 302.82
40 3.2672 90.467 250.64 297.99 298.39
50 2.5631 88.248 24251 293.01 293.12
60 2.0561 85.756 234.63 287.20 287.30
70 1.5113 83.100 226.84 281.19 281.19
80 1.2426 80.025 219.32 274.36 274.24
90 0.9214 76.891 211.81 267.53 267.29
100 0.7037 73.439 204.51 260.04 259.78
110 0.5520 69.785 197.35 252.09 251.98
120 0.4330 65.787 190.31 243.95 243.63
130 0.3241 61.703 183.37 235.36 235.28
140 0.3799 57.110 176.61 226.42 226.12
150 0.3058 52.414 169.95 217.12 216.97
160 0.3346 47.468 163.33 207.80 207.59
170 0.4421 42.113 156.96 197.79 197.71
180 0.6175 36.487 150.67 187.62 187.64
190 0.8747 30.281 144.63 177.00 176.91

%610 fF P tho &7 PUEBPFR R
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B 69 5P - Gut B/l L FAPMRT > RS BEBHEFHPE T

MPEENE A ISP OR RAPFRT D SO AN 802 o

Missile & Target trajectory
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AEGOEL OGS FAFEYR LT 0 Pl 4610 84T AR R

BAEAPERIT022 > FUHBAPFFLA S FAME RN D -
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B 6.10 : P k- F e F R OE 4 A ELLR

6.3.2.1 % 7 PF /% & /2 ®fzp iz
F P kB JI¥ 51 &g EHPE 52 516 Matlab 20 58

Fedi S e Foorde O eng ETOR SE(P1) 2 (P2) B 6.11 2 134 % v & #rk 5 en %
LN (X, %) =02 7 5 35 2lshg, (X, X,) SO g, (X, X,) <0 #7& er 3 Bl 0 #
Phit 2 EPFRF X >0 > it 2 BELFFF X, >0 H°P Edd it

h(x,%,)=0; %7 & R& 2% g(X,%)=0%¢ ¢ 8T F5 g(x,x%)<057 7
BRE s W RN g (X, %)=0" ¢ &M L g (X, %)<0H7 [FEE

BoF P R T g PR EENE Z EAGIN O BEEE C S FI R

Bemm, > T BPEFE EEm~0 0 EBAFFE L EL M ~181 -
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350

/7

\ gl<><l_><2):o
200

- h(x,,x,)=0
X:181.3
150 . Y:145.1
Yg (X, X,)=0 \ m:\

100

e

B 6:11 © p = el pm T R

(1) 40 Ffz max: f(x,X,)=X +X, » TRERLFEF L2 E7ET < @

B B A4S A B 5 (X, %) =(200,110) 2 (X;X;) = (160,150) > % 'm 22 % 44

6.11 #75%
i DES A7 b 1B 2t & P Y BApER 2T i
(%, %) )] (s) (s)
PF (200,110) 181.14 145.23 326.37
(160,150) 181.12 145.24 326.36

2611 PF £f2p - B BEFEL @
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2.

(i) g Ffzmin: f(x,X,) =X +X, » TUEERFFEEFFF] G

B B A4S A B 5 (X, %) =(50,190) 2 (X, X,)=(0,300) » :iim f 2 % bod 6.12

9 5T
g ES o 1 it B B P e
(%, %) Bl (s) (s) (s)
PF (50,190) 0.8959 272.38 273.27
(0,300) 0.0637 272.98 273.04

% 612:PF £f3p - wBREFE ] &

6.3.2.2 4417 SQP iw B i+ Rfzp =
F PR kR | # 53 &5 B SQP jHE 2 0 15 Matlab f250 3£

TN S e O e L R AT(PL)E (P2) %

(i). 2% Ffz max: f (X, X,) =X +X, » TaE SEpEFF S TR AL B

A A 4s A B 5 (X, %) =(200,110).2_ (X, %) =(160,150) » % 'm &2 % 4- 4

6.13 #r7
e e B 4 B P AR BERER P i
(%, %) B+ i@ (s) (s) (s)
SQP (200,110) 181.59 144.93 326.52
(160,150) 181.59 144.93 326.52

# 6.13:SQP Fjzp fh- BT AL B
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(i) 2x ffzmin: £ (X, X,) =X +X, > T BPER &2 TR &)

B B A4S EA B 5 (X, X,)=(50,190) 2 (X, X,)=(0,300) » iiim f 2% 4otk 6.14

AE T
b N ES A7 4 B 2 R pE R BEER TS e
(X4: %) B (s) (s) (s)
SQP (50,190) 0.0000 273.02 273.02
(0,300) 0.0000 273.02 273.02

% 6.14:SQP ff2p - wBRERE ] &

#iE PF 2 SQP i 8 e R i@enut B 0% 5 [0,180] 0 @ gd Hi
BET G UART L R4 PR EESFE A RA ER L B 22 > F
LRz HE et R J T R AR A § BT L 100 £)0E 4
AR L 02 > R RS HER R RT30 02 0 FUEEE LN
feo B AP ERB RN DT A ERFE AAC RBEESFEF EHED

S R I R i

6.3.3 Simulink ## P = % #

Bis o Ay R s KB I 6.2 F TR T ke iE R 0 I F B
Simulink #2;% k58 P 5= 7 bt B g Rk iR dc 4 6.15 917 > v au g
Pl PR EEIBFNE S AR PEEAE S BEREET (D)2

() > # ¢ u B E 10 £y B - &
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2f & pF R A4 P R HiTpr r,(t) T (t)
(s) edE (km) (km) (s) (km) (km)
0 0.2954 30.000 129.93 155.27 155.00
10 0.5551 24.387 124.40 144.43 144.27
20 0.8638 19.004 119.15 133.59 133.46
30 1.4198 13.181 114.41 122.52 122.36
40 1.4839 7.2535 111.26 111.86 111.83

%615 WP £ A% Fu B R

% 615 EFAR NI PUBFFATHRBOPRF R BEARE P RS KE
LEPFAE A A EREIOA 2D T 7 KoL A r R BT R o B F
BPER A 0 PR BReR RS e B L BT L 4055 K

P {RB R KT 10 o 20 Nk uf A pE e
B 6.12 22 §] 6.13 » WG PfR= pat AP SOF )i T & K a0 T

PRIZ &3 REERER 7 0 Ay I R R 4 ahg R dRiT 30 &

2o T RIE S M B AR 0 RIP fRA R B30 22 o
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Missile & Target trajectory
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6.3.3.1 K7 PF 78z £f2p %=
F PRz kR J* 51 &0 B hPFFE 2 0 516 Matlab 258 £ 8 7
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LI N0, %) =0 % 7 % 5T gy (X, %,) <O 4k cm 0 B b s A 48 38
Bx >0 fghit £ BEEFHFF X, >0 B ¥ Edd RN ENX,X)=0; %

B A Q(X,X%)=0 B RT3 WL (X, X%)<0PF TiFFE o F LR

\

T 5 AR S LR R 7 BN P AR R R m, o Ap g

BRIV OUSREBPERE] B R e

200

140

h(xl,x

5)=0

120

m2

| | \

60

40

20

Bl 6.14 ¢ P A= 2 AP F v & B
(). 8 Ffamax: F(X, %) =X +X, » TFUELFFEEEFREFERX B

A A 45 B A B 5 (X, %,) =(250,250) 2 (X, X,) =(300,200) » 3fim f i % 4ot

6.16 #77
W E A7 A5 1B o Y PR HEER B %0 B
(%, %) B4 (s) (s) (s)
PF (250,250) 1.5877 125.87 127.45
(300,200) 1.5558 125.89 127.44

%616 :PF £f2p - BpFF A4 &
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6.3.3.2 447 SQP i B iz K2 P =

FPEZ KB I 53 § 4758 B eh SQP 7 & % 0 %56 Matlab #2582 8
TR R e §oerdk depd i 1 R RE(PL) 2 (P2) o

()28 FfEmax: f (X, %) =X +X, > T BPFRFE FEFRFF R

B 47 4o 84 B 5 (%, X,) =(250,250) % (x,X,) =(300,200) » #'m ffz i & 4o
6.17 #757

e s 1 B AR P AR
(%, %) BoxE (s) (s) (s)

SQP (250,250) 1.8974 125.68 127.57
(300,200) 1.8974 125.68 127.57

4 6,07 | SQP Acfg P 4E= 2 B A b & &

‘._; #\E]%gr'__ s 2Ll § g ZE

B E TR R BT L AR ST B e )
P EREF R B 0F

NS s

<

5 Bt P g BB R K30 22 o

6.4 £ BFFITTARE

Gyt b= AR kB PESD PEFE SQPIFE 2t B s BER T O
TR A A 618 it H P BT v TR G [t e ] B
(tfmin1tfmax> i); %" tdmin bT%‘j’)ﬁ%E‘ﬁ‘ﬂ% f‘?%ﬁ?% tfmin f"/ ’ tdmax ET}LJ-)'@E{/’%? f‘?%g&%

tfmax’fly ° i;&?fbﬁéﬁﬁﬁtsﬁl

t = 1:dmin +t

d max
s

> (6. 1)
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T REER B BEEBPFT R B2 foa- 2 (A FuEB ) F S EE S
FOUOEAGFR R s A REIN RN FAFER L2 2L PN P RS
WER RIDEAF A 30 22 0 P FSEE R B2 SRR KT o BT S

BPERHENURBEFER T I s PR EER » A T4

tsf — f min f max (6 2)

T BERFE ) EHBENRAFRF SRR T A EHEOE TR L fra-

L,
R R O BEER L T e ¥
P P Y
- PF [115,320] (233,87) 217 160
SQP [114,321] (233,87) 217 160
= PF [0,181] (272,145) 90 208
SQP [0,181] (273,144) 90 208
PRz PF [0,1] (125,125) 0 125
SQP [0,1] (125,125) 0 125

2618 A R A B P H U BAPFRFT o BT JIFRPER

LIRS T €1 S S T RS € 1 0 S

AEAARR 0 M T MR A R R P R RE TR o H Y WEF A

T0R » #itcn= 5 67 00 d T RFRBLEL,) FEE kb2 o T RIFRET L4
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1
r(te) =ro + V- +tf)+§g'(td +tf)2 (6.3)

v

LA 4o df B = o WP A7 5
Wx L
W= W, =T, + Vo - (g +tf)+Eg'(td +tf)2_rmo (6.4)
WZ

Hoor i HEA AR o BEF S p AT L P F WS
-1 Wy

w(0)=tan ™ —~ (6.5)
W,

X

6.4.1 ¥ p#%- kg
- KRR AR R T B AR A BEERF 0 FIN R R EF

WP A G b S B T PR R ) 5 116 ) B A S G
3204 A& P - A EEFI L UWFHFE AL EEUSH A LA EFT 320
PR FS TSRS ERT AR ER R F S L B AR BN
Bty =t =217 > t;, =t; =160 * » (6.4)3% % (6.5) 7% 7 12 K7 WA b cTd- 4> o

£ 5 & Simulink #5837 8T A% %

Sk E 44 PI3 AR BiEpER (1) L (t)
(deg) e (km) (km) (s) (km) (km)
-53.18 0.8705 106.28 166.28 202.93 203.00

%6190 P fh- REV LFEET S RS S
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FOHR- kR FEBRVAFEMTL 21T H o HB AR S 1604 0 B iE
Fhtd BB p RSN T S AR 22029 pEF AL 106 22
Bl B~ H 2 SRR PP R BEREAR T R 203 2 2 5 F g3t
Bt AR PTG HE S T UG s P - K615 § 6.16 2 R
6.17 A %] 5 HME P ih- IR ITHFB K73 REFT BEH A %R OIER
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Missile & Target trajectory
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6.4.2 ¥ P = kR ps
A RBE 2R 2 FPE PR D E PR S FRT AP R

TRE R o SR TR BEE A EL 0f) AR E L EL 1810 A
P ABRET 2 F N E R A S FD 181 f) L 3 oo 10 T A M3t Hh EE
BE AT kst TR EFRFE A oty =t,=90 > t, =t =208 X

*(6.4)5% % (6.5)58 ¥ r K18 P B4 & 25 Simulink BT BT )

5%
Y %44 PR3 A BiEpER (1) L (t)
(deg) e (km) (km) (s) (km) (km)
-33.82 0.4681 77.397 211.44 268.58 268.40

% 6.20 1 AR RfE AR PR RO R %

PR RBER SEHRY REE PRGN E A AR LT 0 ¥
PEFARLTITAL ) M 2G2S H BB AP p e EEERT i =
X268 22 5 Fptig et B oariF e AR ARG A E 0 T g sehig A op o
B 6.18 « M 6.19 22/ 6.20 # & 5 ¥3E& p - chE TR~ KFFRAHBET

B &2 ¥ A AR BEeEESLR] -
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Missile & Target trajectory
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B 6.20 © S fEE P - YA AR R B R4 ]

6.4.3 ¥ Pz kB

TR kR EERE TR AR B R % R % R
GEF YR EERRIE ALY N A R e F el
FEPER PP RER ARE 00T o FI QLA BERFTFE B 0F o 0T IA

R EE AT LR R L30T RN - et = =0

t, =t, =125 % » (6.4)5% % (6.5)5% 7 r2 1% {5 5 i 4o » & > & Simulink

T @ TR
Sk E 44 PI3 AR BiEpER (1) L (t)
(deg) e (km) (km) (s) (km) (km)
-39.80 0.2917 30.000 129.92 155.32 155.00

%621 PRz K7 RFEFF & R E %
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PR AR S 30202 » FHy 20 5= §XBHE R BEERT
Fh 165 02 o s AR S PP R RN 30 22 5 Fp gt
Bt AR PEFEHE S T UG osnandf R p R - B 6.21 - B 6.22 2
6.23 A | G B p ARz o TFHPE BT R R HP TR AR R 2R
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AR R EFENEOF A F LT R FATRE D R R S HE e
Fh R S E SRR E T MR RO R R
SR D A A S AR

6.5 % I h S8l &%

9 R BME A AN HE 4 EA R A IR TR A %
BEZENFRIAKRLERE S - BFPRFLP > RS LG EEPFF I DFRT >
BENFRALCEE LS FRP A RPEFE S P DRI TE  F A(47)
7o

-1 (t) + (t) = hr

d 6.2 &R A 4R R T wh =100 A S AR IR chE g h S R P
B Rk rrg A nl R > APREERN <52 h =10 % (THc @2 % g0t o
R ERE LR RS GRS SRR EN (T SN E R I
Gp W E P - RBES T PR 2 SQP A ki uw BPFR B ok

6.22 2 4 6.23 #F71 o

(). % h =5 7950, %)= +r,[)-5<0

e o B it 3 pE F E AR PRS0l g
(%, %) B (S) (s) (s)
PF (150,220) 123.74 226.98 350.72
(0,130) 122.83 227.65 350.48
SQP (150,220) 122.83 227.66 350.49
(0,130) 122.83 227.66 350.49

46220 % hr=5 K fRu BpER 4| &
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1354 6.22 Bav s PF 2 SQP s s BpE M d | ® 5 123 4> ° d % 6.6 7

S B S B 5 3206 0 B RT E T AAFRER L 2224 o

(iD).% h, =10 » ¥ g,(%,%,) =, (1) + 1, () ~10<0

N A7 e (B W BERER BEER P S BB
(%, %) B i (S) (s) (s)
PF (150,220) 115.16 233.38 348.54
(0,130) 115.12 233.41 348.53
SQP (150,220) 114.69 233.73 348.42
(0,130) 114.69 233.73 348.42

% 6.23 10 hr=10 fojzat B 5] &

1945 4 6.23 (B 45 PF 2 SQP #r i enat 8 g i 5] 85 115 45> % d 4 6.6 ¥

B AL L 3204 0 RBODNT B LT AR ST L 217 4

Rl 624 228 RALF FUELBEREATEHGE 4 FAIERR > 29 =4

MEBFES RE L BN L EPFE SQPIFE 2 & % g ar o) chue B pF R )

EH DT S FA
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11 T

simulation
X: 115 compute
Y: 10
10 X: 110
Y:9.443
[ ]
9 \
8
£ \\
<
=
w
N
7

6
[ ]
X: 123 P
Y:5 i
Y:5.561
u 4

4
100 105 110 115 120 125 130 135 140
Delay Time (s)

Bl 6.24: 7 I § K28 F FEBPF AIREDE 4 LA IEAF

FEH 6247 G H A g P - KR § 0,(%,%)<=5 > g3t E o E et
BT AL 12340 R G 8 MO F S TE L DE 4 FAFERENED
22 oA KA BT LAT £ F0:00,%,) <=10 0 gt A0 et
RSB 15 m F Ry B0 #F A2 hE 4 FARPEHE 9D
203 KA PEBPERFLIOH - MARPFRLITEL DUEBPFRFLET

FAF A PER AT Ao 4 6.24 Sif o

ot PP E (S) ¥ ORAFE PR (S)

0s(%,X,) <=5 17 222

9s(%, X,) <=10 5 217

26241 TR FRLAL U BB RLE T APRPER
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44624752 FFRLAET LFERFTORPED L > R EQ(X,%)<=104
e BEEF L] o FAPERY RS HENFRLAL0 2P 0

0s(X,X,) <=10 > 5 % R af BpFfY B | crd s 2+ 2 B2 o
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S SRER -
F ERY i
clear all;

clc;

rmx0=-1000; rmy0=0; rmz0=-10;

txs=1; % BHEHE

if (txs==1)
$===casel===%

rtx0=900000; rty0=-900000; rtz0=-30000;
Vtx0=-2100;Vty0=2000;Vtz0=-2000;
elseif (txs==2)

$===casel2===%

rtx0=750000; rty0=-710000; rtz0=-30000;
Vtx0=-1800;Vty0=1900;Vtz0=-1600;
elseif (txs==3)

$===case3===%

rtx0=350000; rty0=-280000; rtz0Q

Vtx0=-1800;Vty0=1400;Vtz0=

end

Constraint INI % [RHI=
PF COM S H{TPF
SQP COM % H{TSQP
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Hidsr 2 PR ARG

xl=sym('x1"); S x1 B iEEIER
x2=sym('x2"); & x2 Ry TRITHIFRA
RMx0=rmx0/1000; RMyO=rmy0/1000;RMz0=rmz0/1000; % JRIEFILEIIE
rtOx=rtx0/1000; rt0y=rty0/1000; rt0z=rtz0/1000; % HIE¥IANE
vt0x=Vtx0/1000;vt0y=Vty0/1000;vt0z=Vtz0/1000; % HIZgLEHE

o°

FHIRERA I E
F—EIRERAYHE

rm0x=1.7311; rm0y=-2.6115; rm0z=-6.2311;

o°

vm0x=0.3781;vm0y=-0.3616;vm0z=-0.7866;

gml=0;gm2=0;gm3=0.0098; s FREEE T
gt1=0;gt2=0;gt3=0.0098; s HEES
tl=16; S BRI
t2=36; S B T EIRISEIE ]
tc=18; S JETTIREE
T2=23580; S R AT
m20=810; S B HiWEE =
m2d=373/36; S EENEE

vl norm=sqrt (vm0x"2+vmOy"2+vm0z"2) ;

Lvlx=(vmOx+gml*tc) /sqrt ( (vmOx+gml*te) 2+ (vmOy+am2* tc) ~2+(vmOz+gm3*tc) ~2) ;
Lvly= (vmOy+gm2*tc) /sqrt ( (vimOx+gml*tc) 22+ (vmOy+gm2*tc) ~2+ (vmOz+gm3*tc) ~2) ;
Lvlz=(vmOz+gm3*tc) /sqrt ( (vimOx+gml*tc) A2+ (vmOy+gm2*tc) *2+ (vmOz+gm3*tc) ~2) ;
X= 7[R SR a

Y -7 RN R a

2= AR a

X-J5[FI4R NI ZR D

Y- J5[RIER NI ZR D

2= JT RPN D

oe

al=T2/ (m20*1000) *Lvlx;

o°

a2=T2/(m20*1000) *Lvly;

o°
&

a3=T2/(m20*1000) *Lvlz;

oe
g
S

bl=(T2*m2d/ (m2072*1000)) *Lvlx;

o°

b2=(T2*m2d/ (m20"°2*1000) ) *Lvly;

oe
g
S

b3=(T2*m2d/ (m2072*1000) ) *Lvlz;

535 EAIE 2%

rtx=rtOx+vt0Ox* (x2+x1)+0.5*gtl* (x2+x1) "2;
rty=rtOy+vtOy* (x2+x1)+0.5*gt2* (x2+x1) "2;
rtz=rtOz+vt0z* (x2+x1)+0.5*gt3* (x2+x1) "2;
Rt=sqrt ((rtx-0) "2+ (rty-0) "2+ (rtz-0)"2);
355 PEEARREE 552

vm2 fx=vmOx+gml* (tc+t2)+t2*al+0.5*t2"2*bl;
vm2 fy=vmOy+gm2* (tc+t2) +t2*a2+0.5*t2"2*b2;

vm2fz=vmOz+gm3* (tc+t2)+t2*a3+0.5*t2"2*b3;
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2% FHIRIT 398

rm3x_max=rm0x+vmOx* (tc+t2)+0.5*gml* (tc+t2)"2+0.5*%t2"2*al+1*t2"3*b1l/6+0.5*gml* (x2-tl-tc
—-t2) " 2+vm2fx* (x2-tl-tc-t2);

rm3y max=rmOy+vmOy* (tc+t2)+0.5*gm2* (tc+t2) "2+0.5*%t2"2*a2+1*t2"3*b2/6+0.5*gm2* (x2-tl-tc
-t2) "2+vm2fy* (x2-tl-tc-t2);

rm3z max=rm0z+vm0z* (tc+t2)+0.5*gm3* (tc+t2) "2+0.5*%t2"2*a3+1*t2"3*b3/6+0.5*gm3* (x2-tl-tc
—-t2)"2+vm2fz* (x2-tl-tc-t2);

Rm3 max=sqrt ((rm3x max-0) 2+ (rm3y max-0) “2+ (rm3z_max-0) "2) ;

h stg3=Rt”2-Rm3 max"2; % Rm(t)=Rt (t)
al_t=-rtz; s HEGE

al m=-rm3z max; S TR S
g_tm=(-rtz)-(-rm3z_max); % EIZEIRE L

75



“ték 3 PF 42575 75

o

x (1, 1) BRI IR E
s x(1,2) RIRITIFEIWIAE

o

oo

$4========= output =========%%%

o

T (1, 1) Rt EIFRE{E
T (2, 1) BRATHRRIE
T (3, 1) B EHREE
T(4,1) Rl FEAHE
T(5,1) RnhEAAE
T(6,1) M3 EAHE
& T(7,1) RHUEE

& T(8,1) Fycll

o

o

o

o

o

syms x1 x2 £ gl hl c

fprintf( 'Target Case :' ),disp(txs);
stringl = 'choose max(l) or min (2)\n'
xs = input(stringl);

f = (x1+x2); s HiFE

fobj = £;

if (xs==1)
x(1,1)=300;x(1,2)=200;
C(1,1)=0.5;growth=2;stop=0.9;

elseif (xs==2)
x(1,1)=0;x(1,2)=300;
C(1,1)=0.5;growth=2;stop=0.9;

end

renew=1;

while (renew==1)

h altitude=30; S h&H
h r=10; S hr&#g

i=1;t1=16;tc=18;t2=36;th=10;

hl=h_stg3; s FAPRFIR
gl=h altitude-(al t); s AEAPRHI
g3=-x1; & AEAPRH
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elseif (xs==2)

hl=h stg3; s FERH

gl=(g_tm)-h_r; & AEARBIA

g2=-x2+tc+tl+t2+th; s REARH=

g3=-x1; & REABRHI=
end

startl=0;start2=0;
while (startl==0)
gln=subs(gl, {x1,x2}, {x(1,1),x(1,2)});
if (xs==2)
gz2n=subs (g2, {x2},{x(1,2)});
end
g3n=subs (g3, {x1}, {x(1,1)});
hln=subs (hl, {x1,x2},{x(1,1),x(1,2)});
fln=subs (fobj, {x1,x2}, {x(1,1),x(1,2)});
if (xs==1)
theta c x=fln-C(1,1)* (max(0,gln)"2+max(0,g3n) "2+abs (hln)"2);
thetacx=f-c* (gl"2+g342+h1"2);
elseif (xs==2)
theta c x=fln+C(1,1)* (max (0,gln)*2+max (0,g2n) “2+max (0,g3n) “2+abs (hln) "2) ;
thetacx=f+c* (gl"2+g2°2+g3"2+h172) ;
end
k(1,1)=1;
Jthetacx=[diff (thetacx, 'x1");diff (thetaex, "x2")];

Jvalue=subs (Jthetacx, {x1,x2,c}, {x(1,1),x(1,2),C(1,1)});

syms t

if (xs==1)
xoldl=x(1,1)+t*Jvalue(l); $ x1'= x1+t*Df (x)
x0ld2=x(1,2)+t*Jvalue(2); $ x2'= x2+t*Df (x)

elseif (xs==2)

xoldl=x(1,1)-t*Jvalue(l); $ x1'= x1-t*Df (x)
x0ld2=x(1,2)-t*Jvalue(2); $ x2'= x2-t*Df (x)
end

fxnew=subs (thetacx, {x1,x2,c}, {xo0ldl,x0ld2,C(1,1)});
fxnewdiff=diff (fxnew, t);
sol=solve (fxnewdiff, t); $ solve t
if (xs==1)
xnewl=x(1,1)+sol*Jvalue(l); % x1'= x1+t*Df (x)

xnew2=x(1,2)+sol*Jvalue(2); % x2'= x2+t*Df (x)
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elseif (xs==2)
xnewl=x(1,1)-sol*Jvalue(l); % x1'= x1-t*Df (x)

xnew2=x (1,2)-sol*Jvalue(2); % x2'= x2-t*Df (x)

end
x(1,1)=real (xnewl (1,1)); % new x1
x(1,2)=real (xnew2(1,1)); % new x2

x(1,3)=k(1,1);

theta cx(1,1)=subs(theta c x,{x1,x2,c},{x(1,1),x(1,2),C(1,1)});

obj (1,1)=subs (fobj, {x1,x2}, {x(1,1),x(1,2)}); % HIEKEE
gvalue (1,1)=subs (g1, {x1,x2},{x(1,1),x(1,2)}); % glARERE

gvalue (1,2)=subs (hl, {x1,x2},{x(1,1),x(1,2)}); % h1ZERH

if (xs==2)

gvalue (1, 3)=subs (g2, {x2}, {x(1,2)}); s g2 RZHEAE
end
gvalue (1,4)=subs (g3, {x1}, {x(1,1)}); % g3REAME

exam(1l,1)=0;
T(1:8,1)=[x(1,1) x(1,2) obj(l,1) gvalue(l,1l) gvalue(l,2)gvalue(l,4) exam(1l,1) C(1,1)]1;
startl=startl+l;
break;
end
while (start2==0)
i=i+1;
x(i,1)=real (x(i-1,1));
x(i,2)=real (x(i-1,2));

C(i,1)=growth*C(i-1,1);

if (xs==1)
hl=h stg3; s FIRAIR
gl=h_altitude-(al_t); s AEAMRH
g3=-x1; & AEAMRB
elseif (xs==2)
hl=h stg3; s FRAIR
gl=(g_tm)-h r; s AFEARAIF
g2=-x2+tc+tl+t2+th; & REARAI
g3=-x1; & FEAIRH

end
gln=subs(gl, {x1,x2},{x(1,1),x(1,2)});

hln=subs (hl, {x1,x2},{x(i,1),x(1,2)});

g2n=subs (g2, {x2}, {x(1,2)});
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end
g3n=subs (g3, {x1},{x(i,1)});
fln=subs (fobj, {x1,x2}, {x(i,1),x(i,2)});
if (xs==1)
theta ¢ x=fln-C(i,1)* (max(0,gln)"2+max(0,g3n)~2+abs (hln)"2);
thetacx=f-c* (gl”2+g372+h1"2);
elseif (xs==2)
theta ¢ x=fln+C(i,1)* (max(0,gln)"2+max (0,g2n)~2+max (0,g3n) “2+abs (hln)"2);
thetacx=f+c* (gl"2+g272+g3°2+hl1"2);
end
Jthetacx=[diff (thetacx, 'x1"') ;diff (thetacx, 'x2")1;
if (i>2)
Jvalue=subs (Jthetacx, {x1,x2,c}, {x(i,1),x(i,2),C(i,1)}):
else

Jvalue=subs (Jthetacx, {x1,x2,c}, {x(i,1),x(i,2),C(1,1)});

end
syms tt
if (xs==1)

x0ldl=x(i,1)+tt*Jvalue (1)

o°

x1'= x1+t*Df (x)

x0ld2=x (i,2)+tt*Jvalue (2);

o°

x2'"'= x2+£*Df (x)

elseif (xs==2)

o\

x0ldl=x(i,1)-tt*Jvalue(l); x1'= x1-t*Df (x)
xo0ld2=x(i,2)-tt*Jvalue(2); % x2'= x2-t*Df (x)
end
if (i>2)
fxnew=subs (thetacx, {x1,x2,c}, {xoldl,x0ld2,C(i,1)});
else
fxnew=subs (thetacx, {x1,x2,c}, {xoldl,x0ld2,C(1,1)});

end

fxnewdiff=diff (fxnew, tt);

sol2=solve (fxnewdiff, tt); $ solve t

if (xs==1)
xnewl=x(i,1)+sol2*Jvalue(l); % x1'= x1+t*Df (x)
xnew2=x(1i,2)+sol2*Jvalue(2); % x2'= x2+t*Df (x)

elseif (xs==2)
xnewl=x(i,1)-sol2*Jvalue(l); % x1'= x1-t*Df (x)
xnew2=x(1i,2)-sol2*Jvalue(2); % x2'= x2-t*Df (x)

end
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x(i,1)=real (xnewl (1,1)); % new x1
x(i,2)=real (xnew2(1,1)); % new x2

theta cx(1l,1i)=real (subs(theta c x,{x1,x2,c}, {x(i,1),x(i,2),C(i,1)}));

obj (i,1)=real (subs (fobj, {x1,x2}, {x(1i,1),x(i,2)})); s HIZEE
gvalue (i,1)=real (subs (gl, {x1,x2}, {x(i,1),x(i,2)})); S gl AZEE
gvalue (i, 2)=real (subs (hl, {x1,x2}, {x(i,1),x(i,2)})); S h1%={H
if (xs==2)

gvalue (i, 3)=real (subs (g2, {x2}, {x(i,2)})); S g2 A EFE
end
gvalue (i, 4)=real (subs (g3, {x1}, {x(i,1)})); S g3fREHE
k(i,1)=i;

x(1i,3)=k(i,1)
exam(1,1)=sqrt ((x(1,1)-x(1-1,1)) 2+ (x (i,2)-x (i-1,2))2); % ULHH

5% LRKEES

oo

oo

o
]

o°

T(1:8,i)=[x(i,1) x(i,2) obj(i,1) gvalue (i, 1) gvalue(i,2) gvalue(i,4) exam(1l,1i) C(i,1)];
heightm=al m; % &ML
height m=subs(heightm, {x2}, {x(1,2)});
kk=0;
if ( height m < h _altitude )
kk=kk+1;

end

if (xs==1)
if ( (gvalue(i,1l)<=0 && gvalue(i,1l)>=-1) && abs(gvalue(i,2))<=1 && x(1i,1) >= 0 &&
x(i,2) >= 0 && exam(l,1i) < stop )
if ( height m < h _altitude || x(i,2) < tl+tc+t2+th )
x(1,1)=x(i,1)-5*kk;x(1,2)=x(1i,2)+5*kk;
C(1,1)=0.5;growth=2;stop=0.9;
else
renew=2;
break;
end
elseif ( (gvalue(i,1l)<=0 || abs(gvalue(i,1l))<=1l) && abs(gvalue(i,2))<=1 && (x(i,1)
<=1 && x(i,1) >=0) && x(i,2) >= 0 )
if ( height m < h altitude || x(i,2) < tl+tc+t2+th )
x(1,1)=x(i,1)-5*kk;x(1,2)=x(1i,2)+5*kk;
C(1,1)=0.5;growth=2;stop=0.9;
else

renew=2;
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break;
end
end
if ( gvalue(i,1l) > 0 )
if (gvalue(i,1l) > 20)
xxl=fix(x(i,1));
xx2=fix (x(i,2));
check f=subs (fobj, {x1,x2}, {xxl,xx2});
limitgl=subs(gl, {x1},{0});
limit tf=max (double (solve (limitgl)));
if ( check f > limit tf && x(i,2) >= tl+tc+t2+th )
cc=subs (gl, {x1}, {xx1});
cc_tf=max(double (solve(cc)));

miss tf=x(i,2)-cc_tf;

rx2(j,1)=rea

end
ccixl=find(ixl (l:count,1)==0);
cclenix=length (ccixl) ;
for jj=l:cclenix
acl(jj,1l)=ccixl (33, 1);
for jjj=l:cclenix
acrll(jjj,jj, D =rxl(acl(3j,1),1);
acr22(jjj,jj,l)=rx2(acl(j3j,1),1);
end
end
for jjj=l:cclenix
acrl(jjj,1l)=acrll(1,333,1):
acr2(jjj,l)=acr22(1,333,1):
end
for jjjj=l:cclenix
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if (acrl(j3jj)>0 && acr2(3jjjj)>0)
ktd=acrl(jjjj);ktf=acr2(jjjj);
end
end
miss_ td=x(i,1)-ktd;
x(i,1)=x(i,1)-miss_td;
elseif ( check f > limit tf && x(i,2) < tc+tl+t2+th )
x(i,1)=x(i,1)-3;
end
elseif (gvalue(i,1l) <= 20)
if ( abs(gvalue(i,1l)) <= 1)
x(i,2)=x(i,2)+1;
else
x(i,2)=x(1i,2)+3;
end

end

elseif ( (gvalue(i, 1))
if ( (gvalue(i, 1)
x(i,1)

elseif ( (gvalu i )

elseif ( (gvalue (i
x(i,1)=x(1i
elseif ( (gvalue(i,l)) <
x(i,1)=x(i,1)+2;
elseif ( (gvalue(i,1l)) >= -1)
x(1,1)=x(i,1)+1;
end
end
elseif (xs==2)
if ( ( (gvalue(i,1)<=0 && gvalue(i,1l)>=-1) && abs(gvalue (i, 2))<=1 && gvalue (i, 3)<=0
&& x(i,1) >= 0 && x(i,2) >= 0 && exam(l,1i) < stop) )
if ( height m < h_altitude )
x(1,1)=x(i,1)-5*kk;x(1,2)=x(1i,2)+5*kk;
C(1,1)=0.5;growth=2;stop=0.9;
else
renew=2;
break;

end
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elseif ( ( gvalue(i,1l)<=0 || abs(gvalue(i,1l))<=1)
gvalue (i,3)<=0 && (

if ( height m < h_altitude )
x(1,1)=x(i,1)-5*kk;x(1,2)=x(i,2)+5*kk;
C(1,1)=0.5;growth=2;stop=0.9;
else
renew=2;

break;
end
elseif ( gvalue(i,1)<=-20 && abs(gvalue(i,2))<=1 &&
x(i,2) >= 0 )
renew=2;
break;

end

if ( (gvalue(i,1)) > 0 )

if ( (gvalue(i,1l)) > 20

if (x(i,1) <

X
x(1i,2)

elseif ( x(i,

end
elseif ( (gvalue (i
if ( x(i,1) < x(

x(i,2)=x(i,2)+5;

elseif ( x(i,1) > x(i-1,1) )

x(i,2)=x(1,2)-5;
end

elseif ( (gvalue(i,l)) > 4 && (gvalue(i,1l)) <= 10

if ( x(i,1) < x(i-1,1) )
x(i,2)=x(i,2)+3;

elseif ( x(i,1) > x(i-1,1) )

x(1,2)=x(i,2)-3;
end

elseif ( (gvalue(i,1l)) > 1 && (gvalue(i,l)) <= 4)

if ( x(i,1) < x(i-1,1) )
x(1i,2)=x(i,2)+2;

elseif ( x(i,1) > x(i-1,1) )
x(1i,2)=x(1i,2)-2;

end
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)

x(i,1) <=1 && x(i,1) >=0)

(x

&& abs (gvalue (i, 2))<=1 &&

&& x(1i,2) >= 0 )

(i,1) <=1 && x(i,1) >=0)

&&



elseif ( (gvalue(i,1l)) <= 1)
if ( x(i,1) < x(i-1,1) )
x(i,2)=x(i,2)+1;
elseif ( x(i,1) > x(i-1,1) )
x(i,2)=x(i,2)-1;
end
end
elseif ( (gvalue(i,1l)) < 0 )
if ( (gvalue(i,1)) < -20 && abs(gvalue(i,1)) >= 100 )
if (x(i,1) <= -10 )
X (i,2)=x(i,2)-5;
elseif ( x(i,1) <= -2 && x(i,1) > -10 )
x(1i,2)=x(i,2)-3;

elseif ( x(i,1) >= -2)

end

elseif ( (gvalue (i,

if ( x(i,1)

x(i,2)

end

if ( x(i,1) < x(i-1,

x(1,2)=x(1,2)+5;
elseif ( x(i,1) > x(i-1,1) )
x(i,2)=x(i,2)-5;
end
elseif ( (gvalue(i,1)) < -1 && (gvalue(i,1)) >= -10)
if ( x(i,1) < x(i-1,1) )
x(1,2)=x(1i,2)+2;
elseif ( x(i,1) > x(i-1,1) )
X (1,2)=x(1,2)-2;
end
elseif ( (gvalue(i, 1)) >= -1 )
if ( x(i,1) < x(i-1,1) )
x(i,2)=x(i,2)+1;
elseif ( x(i,1) > x(i-1,1) )
x(i,2)=x(i,2)-1;
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end

end
end
end

end
end
clc;
fprintf ( 'Target Case :' ),disp(txs);
if (xs==1)

fprintf ("\n
fprintf ("\n
fprintf ("\n
fprintf ('"\n
fprintf ('"\n

fprintf ('"\n

elseif (xs==2)

end

fprintf ('"\n
fprintf ('"\n
fprintf ('"\n
fprintf ('"\n
fprintf ('"\n

fprintf ('"\n

MAX ')
Iteration Number :'),disp(i);
Best Fly Time (tf) :'),disp(T(2,1));
Best Delay Time (td) :'),disp(T(1,1));
Objective Function :'),disp(T(3,1i));

Iteration N
Best Fly Time (tf) :'),disp (' r
Best Delay

Objective
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45 4 SQP 423 /5

o

xb (1) BRI PR E
% xb (2) RIRITIFEIWIAE

o

oo

$4========= output =========%%%

o

XX (1, 1) Ryx 109 E
XX (2, 1) Ryx2f s

XX (3,1) A¥fJlamdal

o

o

o

XX (4,1) By¥rfylamda2
XX (5, 1) REEF R (E
XX (6, 1) RIRATIFRE(E
s XX(7,1) hEEE

$ Xx(8,1) Ko RN EAE

& XX (9, 1) Fy HIEmREE

o

o

fprintf( 'Target Case :' ),disp(txs);
stringl = 'choose max(l) or min (2)\n'
xs = input(stringl);

syms x1 x2 £ g h

syms gradfl gradf2 gradhl gradh2 gradgl gradg2
i=1;

tl=16;tc=18;t2=36;th=10;

lamdal=0.5;lamda2=0.5;

h_altitude=30;h r=10; s VHESEELE
if (xs==1)
£ = - (x1+x2); % HELKE (max)
xb (1)=250;
xb (2)=250;
h=h_stg3; s FFRRAI
g=h_altitude-al t; % FRERIRHIR

elseif (xs==2)

f = (x1+x2); S EFEREL (min)
xb (1)=0;
xb (2)=100;
h=h stg3; & FFFRA
g=-h r+g tm; s AEARAIR
end
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k=0;
renew=1;
while (renew==1)
clear XX
k=k+1;it=1000;
for i = 1:it
% the gradient functions
gradfl = diff(f,x1);
gradf2 = diff(f,x2);
gradhl = diff (h,x1);
gradh2 = diff (h,x2);
gradgl = diff (g,x1);
gradg2 = diff (g,x2);
% the hessian functions
hessf = [diff(gradfl,xl), diff(gradfl,x2); diff(gradf2,xl), diff(gradf2,x2)];
hessh = [diff(gradhl,x1l), diff (gradhl,x2); diff(gradh2,xl), diff(gradh2,x2)];
hessg = [diff(gradgl,xl), diff (gradgl,x2); diff(gradg2,xl), diff(gradg2,x2)];
f1 = subs (f, {x1,x2}, {xb(1),xb(2)});
gl = subs (g, {x1,x2}, {xb(1),xb(2)});
hl = subs(h, {x1,x2}, {xb(1),xb(2)});
% the values of the gradient functions and hessian functions
gfl = double(subs (gradfl, {xd,x2}, {xb(1l),xb(2)}))s
gf2 = double (subs (gradf2, {x1,x2},{xb(1),xb(2)}));
hessl = double (subs (hessf, {x1,x2},{xb(1),xb(2)1}));
ghl = double (subs (gradhl, {x1,x2}, {xb(1),xb(2)}));
gh2 = double (subs (gradh2, {x1,x2}, {xb(1),xb(2)}));
ggl = double (subs(gradgl, {x1,x2},{xb(1),xb(2)1}));
gg2 = double (subs(gradg2, {x1,x2},{xb(1),xb(2)1}));
g _value=(subs (g, {x1,x2}, {xb(1),xb(2)}) > 0);
if (g_value >= 0)
hess=hessf+lamdal*hessh+lamda2*hessg;
A=[subs (hess, {x1,x2}, {xb(1),xb(2)}) [ghl;gh2] [ggl;gg2] ;[ghl gh2 0 0];[ggl gg2 0 0] 1;
B=[-[gfl;gf2];-subs (h, {x1,x2}, {xb(1l),xb(2)});-subs (g, {xl,x2}, {xb(1),xb(2)})];
X=inv (A) *B;
xb(l) = xb(l) + X(1); % x1'= x1+dl
xb(2) = xb(2) + X(2); % x2'= x2+d2
dxlbest = X (1);

dx2best = X (2);
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else
hess=hessf+lamdal*hessh;
A=[subs (hess, {x1,x2},{xb(1),xb(2)}) [ghl;gh2];[ghl gh2 01];
B=[-[gfl;gf2];-subs (h, {x1,x2}, {xb(1),xb(2)})];

X=inv (A) *B;

xb (1) = xb (1) + X(1); % xl'= x1+dl
xb (2) = xb(2) + X(2): $ x2'= x2+d2
dxlbest = X (1);
dx2best = X(2);

X (4)=lamda2;
end
lamdal=X(3) ;
lamda2=X(4) ;

obj=subs (f, {x1,x2},{xb(1l),xb(2)});

oo

%9 i 4 R

XX (1:3,1)=X(1:3);

XX (4,1)=X(4);

XX (5:6,1)=[xb(1);xb(2)];

XX (7,1)=subs (h, {x1,x2}, {xb (]
XX (8,1i)=subs (g, {x1,x2}, {xb (1
if xs==

XX (9,1)=-0obj;
else

XX (9,1)=0bj;

End

if xs==
if ([dxlbest dx2best]*[dxlbest dx2best]') <= 1.0e-06
break;
end
elseif xs==
if ([dxlbest dx2best]*[dxlbest dx2best]') <= 1.0e-06
break;
end
end

end
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=

height m=al m; % RERESE

if subs(height m, {x2},{xb(2)}) < h_altitude || XX(6,1) < tl+tc+t2+th
xb (1)=xb (1) -5%k;xb (2)=xb (2)+5*%k;
renew=1;
else
renew=2;
break
end
elseif (xs==2)
if subs(height m, {x2},{xb(2)}) < h_altitude || XX(6,1) < tl+tc+t2+th
xb (1)=xb (1) -5%k;xb (2)=xb(2)+5*k;
renew=1;
else
renew=2;
break
end
end

end

if (XX (5,1)<=0)

XX (5,1)=0;

XXX=real (double (solve (subs
for j=1:length (XXX)
if (XXX (§)>0 && XXX (3)<=400)

XX (6,1)=XXX(J);

end
end
end
clc;
fprintf ( 'Target Case :' ),disp(txs);
if (xs==1)
fprintf ('\n MAX ')
fprintf ('\n Iteration Number :'),disp(i);
fprintf ('\n Best Fly Time (tf) :'),disp(XX(6,1));
fprintf ('\n Best Delay Time (td) :'),disp(XX(5,1));
fprintf ('\n Objective Function :'),disp(XX(9,1));
fprintf ('\n MAX \n');
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elseif (xs==2)

end

fprintf ("\n
fprintf ("\n
fprintf ("\n
fprintf ("\n
fprintf ("\n

fprintf ("\n

MT N Ty .
MIN ’

Iteration Number :'),disp(i);
Best Fly Time (tf) :'),disp(XX(6,1));
Best Delay Time (td) :'),disp(XX(5,1i));
Objective Function :'),disp(XX(9,1));
MIN \n');
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"4 5 SQP K27 F B {eh NS

X (5.14)7 LNS 3

VIZL(X*, A%, B*) Vh(x) Vvg(x*)| d VT (x¥)
Vh(x*) 0 0 At == h(x¥)
vg(x)' 0 0 |[B g(x")

W2 B RBPET RN 3 Feh(x)=0 > g(X)<03% L(X,A,B) °

k2P - B2 &

v (X) = m

h(x) =1.6149-10° — 6894.9x, +5.9806x2 —0.0588x2x, — 0.0588x2x, —0.0196x’ —7.6242-107*x +9.6040-10°x’x,
+1.4406-107 x*x2 +9.6040-107° X3, +24.2320%,X, +2.4010-107° ;! — 7260x, +12.1160%;

g(X) =—2x, —2x, +0.0049x. +0.0098x, X, +0.0049x

Vh(x) {H

2

h, = -0.1176x,X, +9.6040-10° X; + 2.8812-10"*x;x, + 2.8812-10* XX,
—0.0588x. —0.0588%; +9.6040-107°x; +24.2320x, 7260 + 24.2320x,

h, = —6894.9 —0.0588x +2.8812-10* x’x, +2.8812:107 x’x, +9.6040-10°x}
—0.1176x,x, —0.0023x; +24.2320x, +11.9611x,

—2+0.0098, +0.0098x,
Vg(x) =

—2+0.0098, +0.0098x,

V2L(X,A,B) = H“ :12}

h, =—0.1176x, +2.8812-10“ Ax? +5.7624-10* Ax,x, —0.1176Ax, +2.8812-10“ Ax? +24.23201 +0.0098 3
h, = —0.11761x, +2.8812-10* Ax} +5.7624-10* Ax,X, —0.11761x, + 2.8812-10* Ax’ + 24.23204 + 0.0098 8
h,, =—0.11761x, +2.8812-10* Ax +5.7624-10* Ax,x, —0.11761x, +2.8812-10* Ax} +24.23204 +0.0098 3
h,, =5.7624-107 Ax X, +2.8812-10* Ax’ —0.11761x, — 0.00461x, +11.96111 +0.0098 3

dogt = ko o gl LNS g g d s A2 gt e
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2. £j2p - 5 ) E

v (X) = m

h(x) =1.6149-10° — 6894.9x, +5.9806x2 —0.0588x2x, — 0.0588x2x, —0.0196x’ —7.6242-107*x +9.6040-10°x’x,
+1.4406-107 x*x2 +9.6040-107° X3, +24.2320%,X, +2.4010-107° ;! — 7260x, +12.1160%;

g(x) = 79.6039+0.0778x, + 2x, —0.0098x,X, —0.0049x>

Vh(x) {H

2

h, =—0.1176X,X, +9.6040-107°x3 + 2.8812-107* x2x, + 2.8812-10* XX,
—0.0588x2 —0.0588x’ +9.6040-10°° X + 24,2320, — 7260 + 24.2320X,

h, = —6894.9 —0.0588x7 + 2.8812-107* X2X, +2.8812-107* X?X, +9.6040-10°x}
—0.1176X,X, —0.0023X’ + 24.2320% +11.9611x,

2-0.0098x, —0.0098x,
VaI=| " 4 9778—0.0098
.0778-0.0098x,
viL(x,x,B){h“ h“}
h21 h22

h, =—0.1176x, —0.1176AX, +5.7624:10 44x,X, + 2.8812-10* AxZ+24,23204 + 2.8812-10* 1x? —0.0098 3
h, =—0.11764x, —0.1176AX, +5.7624-10™ A%x, +2.8812:10 *2%; +24.2320 + 2.8812-10* Ax? —0.0098* 3
h,, =—-0.11761x, —0.1176AX, +5.7624-107 XX, + 2.8812-10™* Ax’ + 24.2320 + 2.8812-10"* Ax? —0.0098* 3
h,, =11.96114 —0.1176.4, —0.00464X, +2.8812-10* Ax* +5.7624-10* 1xX,

ot — ko BT ﬂ?r LNS JIIEAPJ"T\:]: dk s )\’k‘*'la Bk+1 .

RS LR N

Vi(X) = {ﬂ

h(x) =1.0615-10° —4936.9x, + 2.9806x; —0.0470x?X, —0.0470x>X, —0.0157x;’ +0.0032x; +9.6040-10° XX,
+1.4406-10*x*x2 +9.6040-10° x>, +18.2320x,X, +2.4010-107°x; —5302x, +9.1160x’

g(x) =—1.6X, — 1.6 +0.0049x2 +0.0098x,X, -+0.0049x’
Vh(x) = {hﬂ
h,
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h, = —0.0941x x, —0.0470x? —0.0470%; +18.2320x, +2.8812-107*x’x,
+2.8812-107 x2x, +9.6040-10°x; —5302 +18.2320* x1+9.6040-10° X’

h, =-4936.9+5.9611x, —0.0470x” — 0.0941x,x, +0.0095x +18.2320x,
+9.6040-10° X% +2.8812-10* x?x, +2.8812-10* x2X,

—1.6+0.0098x, +0.0098x
Vg(x) { Xl }

~1.6+0.0098x, +0.0098x,

VZL(X, %, B) :{hﬂ h”}

th h22

hy, = —0.09414x, —0.09411x, +5.7624-107 A X, +2.8812-10* Ax? +18.23204 + 2.8812-10* Ax? +0.00983
hy, =—0.09411x, —0.09411x, +5.7624-10 Ax X, + 2.8812-10* Ax? +18.23201 + 2.8812-10* Ax? + 0.0098
h,, =—0.09411x, —0.09411x, +5.7624-10"* 1, X, +2.8812-107* Ax? +18.23204 + 2.8812-10* 1x” +0.0098 3
h,, =5.96111 —0.09411x, +0.01894x, +2.8812-10* Ax’ +5.7624-10* 1x,X, +0.00983

dopt - koo 3T 1% LNS g4l d“< > Atz gt .

4. Rjz2p - 5| &

v (X) = m

h(x) =1.0615-10° — 4936.9x, + 2.9806X; = 0.0470x2x, —0.0470x2x, <0.0157x® +0.0032x] +9.6040-10 ° X,
+1.4406-10"* x2x2 +9.6040-10 ° 53X, +18:2320x,X, +2:4010-10 ° x* —5302x, +9.1160x

g(x) = 79.6039 —0.3222x, +1.6x, —0.0098x,X, —0.0049x>

Vh(x) {H

2

h, = -0.0941x,x, —0.0470x? —0.0470x? +18.2320x, +2.8812-10* XX,
+2.8812-107 x2x, +9.6040-107°x —5302 +18.2320* x1+9.6040-10°x}

h, = -4936.9 +5.9611x, —0.0470x? — 0.0941x,X, +0.0095x; +18.2320x,
+9.6040-10°x% +2.8812-10* x’x, +2.8812-10* x?x,

1.6—0.0098x, —0.0098X,
Vg(x) =

—0.3222 -0.0098x,
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V2L(X, A, B) :{hﬂ h”}

th h22

hy, = —0.09411x, —0.09411x, +5.7624-107 AxX, +2.8812-10* 1x? +18.23204 + 2.8812-10* Ax? —0.0098 3
h, =—0.09411x, —0.09411x, +5.7624-10 Ax X, + 2.8812-10* Ax? +18.23201 + 2.8812-10* Ax —0.0098 8
h,, =—0.09411x, —0.09411x, +5.7624-10"* 1, X, +2.8812-107* Ax? +18.23204 + 2.8812-10* 1x’ —0.0098 3
h,, =5.96111 —0.09411x, +0.01894x, +2.8812-10* Ax +5.7624-107* Ax X,

4ot — koo #F 1% LNS g R d“ > Atz gt e

5. Rfzp =5+ &

v (X) = m

h(x) = 2.0427 -10° —1659.5x, —1.8760x — 0.0029x2x, — 0.0029x2x, —9.8000-10* X + 0.0179x +9.6040-10°x’x,
+1.4406-107 x*x2 +9.6040-107° X3, +8.5188%,X, + 2.4010-10° X’ — 2024.6x, + 4.2594%?

g(x) =—67—0.1x, —0.1x, +0.0049X’ +0.0098x, x; + 00049

Vh(x) {H

2

h, = —0.0059x,x, —0.0029%> ~0.0029x +2.8812-10* x’x, + 2.8812-10* XX,
+9.6040-10° X2 +8.5188%, +9.6040-10°x’ —2024.6 + 8.5188x

h, =—1659.5—3.7521x, —0.0029x.~0.,0059%,X, +0.0536x> +9.6040-10° X’
+2.8812-107 XX, +2.8812-10* x?x, +8.5188X,

~0.1+0.0098x, +0.0098X,
Vg(x) =

~0.1+0.0098x, +0.0098X,

VL B) {hu hlz}

h21 h22

h, =—0.0059.4x, —0.00591X, +5.7624-10* Ax,X, + 2.8812-10* Ax? + 2.8812-10“ A +8.5188 + 0.0098 3
h, =—0.0059x, — 0.0059.4X, +5.7624-10* Ax,X, + 2.8812-10* 1x? + 2.8812-10* Ax? +8.51881 + 0.00983
h,, =—0.00594X, —0.0059.4X, +5.7624-10* Ax,X, + 2.8812-10* Ax’ + 2.8812-10* 1x? +8.5188. +0.0098 3
h,, = —3.75211 —0.0059.4x, +0.10714x, +2.8812-10* Ax? +5.7624-10* Ax,X, +0.00983

dogt = ko o gl LNS g g d s A2 gt e
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